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The Ty nd all Centr e comp rises  n ine UK resear ch  in stitution s.  It is  fu nd ed by  th ree Resear ch  C oun cils  - NERC , EPSRC and  ESRC - and  also r eceives  some su pp ort from  th e DTI
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RankedYear Mean Annual T°
2003 9.18
1997 9.07
2002 9.00
1949 8.81
1990 8.80
1999 8.79
1857 8.79
1945 8.75
1998 8.73
1959 8.72
Ranked Year Total (mm)

1938 1726.6
1990 1720.4
1954 1675.7
1948 1669.9
1998 1641.7
1992 1597.5
1988 1586.4
1999 1545.2
1982 1537.1
1986 1536.4
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Temperature Stations

Precipitation Stations

HadRM3 - ‘Scotland’

Source:  UKCIP02
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Temperature Stations

Precipitation Stations
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